
®

guaranteed

 an addendum to Woodsmith Premium Plans 	 ©2019 Cruz Bay Publishing, Inc. an Active Interest Media Company

Shop Drawings

Shop-Made Miter Vise



(B) - BASE

 

(A) - POST

 

SECTION  A-A

 

(D) - TOP

 

POST ON BASE

 

POST ON TOP

 

A
A

DATE:
SHEET:

SN09436 SHOP-MADE MITER VISE WoodsmithPlans.com 1-43-9-2001

4 1/2

1 3/4

6

3 1/2

6

6

3 1/2

2 1/4

2 1/42 1/2

5/8

5/8

5/8

2 1/4

2

1 3/4

3/4

4

6

3/4

1 1/4

1 3/4

1 3/4

1

7/8

3/8

1/8

1 1/4

1 1/4

1 3/4

1 3/4

DRILL AND COUNTERSINK

FOR #6 X 2 F.H. SCREWS

DRILL AND COUNTERSINK

FOR #8 X 2 F.H. SCREWS

FRONT CORNER

FRONT CORNER

FRONT CORNER

FRONT CORNER

1/4 - 20 THREADED INSERT



(E) - CLAMP BLOCK

 

(F) - GUIDE

 

(C) - BACK

 

DATE:
SHEET:

SN09436 Shop-Made Miter Vise WoodsmithPlans.com 2-43-9-2001

4

3/4

1/8

3/4

1/2

1 1/2

3/8

4

3/4

5 5/16

3/4

6

6

1

3

3

3/8

2

2

BACK

#8 x 2 F.H. SCREWS

1/4 - 20 STAR KNOB WITH 1 IN. STUD

1/4 IN. FENDER WASHER

1/4 ID. X 3/8 OD. X 7/8 BRONZE BUSHING



(H) - JAW

 

(G) - ARM

 

CROSS DOWEL

 

CROSS DOWEL

 

5/16 X 5 1/2 THREADED ROD

 

JAW

 

DATE:
SHEET:

SN09436 SHOP-MADE MITER VISE WoodsmithPlans.com 3-43-9-2001

1 3/4

9

2

1/4

R5/16

4 1/2

3/4

3/4

5/8

4 1/2

1 1/2

R3/4

1 3/4

3/4

3/8

1 1/2

R1/4

3/4

5/8

5/8

1 3/4

2 1/4

R5/32

5/16 - 18 THREAD

1/4 IN. WASHER

1 IN. KNOB 1/4 -20 X 1 STUD

1/2 O.D. NYLON 

SPACER 1/2 IN. LONG 1/2 IN OD. SPRING

 

1 1/2 IN. BUTT HINGE

5/8 x 1 3/4 CROSS DOWEL

1/4 - 20 INSERT



DATE:
SHEET:

SN09436 SHOP-MADE MITER VISE WoodsmithPlans.com 4-43-9-2001


